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HX3—2 BEWICHERTILECSNIERICHTEIEEN/D i} HEEET =
EESIEONE | EMES 01151070 [ &ma | BIIR2 RS SR
SEFEMOTIRICEET 51 SESHTN
Eﬁg TREOBBOEIENDRES TRZEDHEEILADKRES TREOBIBDEIENDKRES TREDHEBRSIENADKRES
&5 R 4 ﬁq‘é}f Tﬂn“ﬁb\(ﬁf)ﬂﬁ‘ﬁﬁ 73&3%‘5 K 4 Tﬂﬁﬂg\%‘z(ﬁ;k$ ?'%;f 73&3%‘5 X 4 ;.g,‘mf J:ﬂﬁuﬁﬁ‘(i)a)tt% 71(3;3:;%3 X 4 J:ﬂﬁuﬁﬁ‘(i)a)tt% ;.%‘m? ?ﬁﬁié
; 100kN/M%E#B 2% - ~ -[3mEEZS -~ - -| 100kN/ Mm% 2% - ~ [ 3mERBZS ~ -
zh st 1.00 | 0.00 ~ 698 88.56 | Ehs |ooo ~ 698 1.72 9.23 zhst 1.00 | 6.00 ~ 870 88.56 | Tns | 500 ~ 870|172 9.23
2 100kN/ Mm% Z % ~ -|3mEBZD ~ -] 100kN/M%E#BZ5 ~ -|3mEBZD ~
zh st 1.00 | 0.00 ~ 736 93.82 | NS | 000 ~ 736|242 12.94 zhst 1.00 | 500 ~ 1038 93.82 | Fhds | 5,00 ~ 1038 242 12.94
3 100kN/ M%E#B 2% ~ -[3mEEZS ~ -| 100kN/ Mm% 2% ~ -[3mERBZS ~
zh st 1.00 | 0.00 ~ 769 98.67 | NS | 000 ~ 769|225 12.05 zhst 1.00 | 500 ~ 1038 98.67 | TR | 5.00 ~ 1038| 225 12.05
4 100kN/ Mm% Z % ~ -|3mEBZD ~ -] 100kN/M%E#BZ5 ~ -|3mEBZD ~
zh st 1.00 | 000 ~ 485 60.49 | NS | 000 ~ 485 | 2.24 11.96 zhst 1.00 | 5.00 ~ 7.70 60.49 | =hs | 500 ~ 7.70| 2.24 11.96
5 100kN/ Mm% Z % ~ -|3mEBZD ~ -] 100kN/M%E#BZ5 ~ -|3mEBZD ~
zh st 1.00 | 000 ~ 522 65.12 | N4 | 000 ~ 522 1.81 9.70 zhst 1.00 | 5.00 ~ 5.70 65.12 | =hds | 500 ~ 570 | 1.81 9.70
6 100kN/ Mm% Z % ~ -|13mEBRB| 000 ~ 023 | 347 18.55 | 100kN/m#%#8 %% ~ -|13mEBRB| 500 ~ 570 | 347 18.55
zh st 1.00 1000 ~ 119 912 | #nS | 028 ~ 1.19| 3.00 16.05 zhst 1.00 | 5.00 ~ 5.70 912 | ThS | 500 ~ 5.00 | 3.00 16.05
- 100kN/ Mm% Z % ~ -|3mEBZB| 000 ~ 028 3.61 19.34 | 100kN/m%#8 %% ~ -13mERBZB| 5.00 ~ 500 | 361 19.34
zh st 1.00 | 000 ~ 122 6.69 | RS | 028 ~ 122 300 16.05 zhst 1.00 | .00 ~ 5.00 6.69 | #hs | 500 ~ 5.00)| 3.00 16.05
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEBAS ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zhust ~ Zhust ~ Zhust ~ Zhust ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/mMZE#BZ % ~ ImEEBAD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
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